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Materials
For this paper you must have:
e a calculator.

Instructions

e Use black ink or black ball-point pen.

¢ Fill in the boxes at the top of this page.

e Answer all questions.

e You must answer the questions in the spaces provided. Do not write outside the box, around each
page or on blank pages.

e Do all rough work in this answer book. Cross through any work you do not want to be marked.

Advice
e The marks for each question are shown in brackets.
¢ The maximum mark for this paper is 90.




Section A

Answer all questions in the spaces provided

-

For questions with four responses only one answer per question is allowed.

For each answer completely fill in the circle alongside the appropriate answer,

CORRECT METHOD El WRONG METHODS | % [ ) || ﬂ" o |

select as shown. @
.

e

If you want to change your answer you must cross out your original answer as shown. E

If you wish to return to an answer previously crossed out, ring the answer you now wish to

lo]1 |.[ 1] Which of these businesses provides a service to customers?

A Bicycle manufacturer

B Dry cleaner

C House builder

of [ [ [o]

D Pig farmer

0]1]. Why might a sole trader choose to take a partner into the business?

A So that he can give a job to a friend
B So that shares can be sold

C So that the profits will be shared with someone else

o] [ [ o]

D So that there will be additional skills and expertise

[1 mark]

[1 mark]
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Which of these is a benefit of an effective recruitment and selection process?

A Fringe benefits

B Person specification

C Staff retention

D Training off the job

o] [ []

[1 mark]

Which type of production is used by a baker who specialises in personalised
children’s birthday cakes?

A Flow

B Job

C Just-in-case

D Just-in-time

Question 1 continues on the next page

o] [ ] [of

[1 mark]
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[0]1].[5]

0f1].[6]

[of1].[7]

Which of these statements describes Total Quality Management (TQM)?

A A system which looks at the quality of finance in the business |§|
B The managers each look after their own department’s work E

C The system uses quality managers to monitor what the |§|
employees produce

D Workers are all responsible for the excellence of the (o]
business’s output

[1 mark]

Which of these people would be most likely to work in the procurement department
of a clothes manufacturer?

A Buyer @

B Customer service adviser
C Delivery driver

D Machinist

o] [ []

[1 mark]

Identify two methods of external growth that a business could choose.

[2 marks]
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. Explain how communication could be easier in a flat organisational structure rather
than in a tall organisational structure.

[2 marks]
: E Explain one benefit to a business of using part-time staff.

[3 marks]
|0]1].]10]| Explain one benefit of providing induction training for employees.

[3 marks]
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l0]1].]11| Explain two benefits to a business of ensuring the protection of their employees’
health and safety.
[4 marks]
Benefit 1
Benefit 2

End of Section A

Turn over for Section B
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Section B

Answer all questions in the spaces provided

0]2] ltem A: Krispy Kreme

This source has been removed due to third-party copyright restrictions.

: Identify two drawbacks to Krispy Kreme of using responsibly sourced ingredients.

[2 marks]

Question 2 continues on the next page
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[0]2].[2]

Employees receive 20% discount off coffee. Figure 1 shows the number of
coffees bought by employees last week.

Figure 1
Number of coffees Discount received
Sarah 2
Robert 5
Ali 4

Total cost to store

Using Item A, complete Figure 1 to show how much discount each employee
received and the total cost to the store of discounts last week.

Workings

[3 marks]

[0]2].[3]

Identify two stakeholders of a business.

[2 marks]
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: Analyse one way in which a stakeholder of Krispy Kreme may be affected by the
opening of a new store.

[6 marks]

Question 2 continues on the next page
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Item B: Krispy Kreme

This source has been removed due to third-party copyright restrictions.

. Analyse the effect that the growth of Krispy Kreme may have on maintaining the
quality of their doughnuts.
[6 marks]
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.[ 6] Analyse the impact of the use of motivational techniques at Krispy Kreme.

[6 marks]
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: Recommend whether Krispy Kreme should invest in the development of an app for
UK customers. Give reasons for your advice.
[9 marks]
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End of Section B

Turn over for Section C
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Section C

Answer all questions in this section.

Item C — Park Designs Ltd (PDL)

Park Designs Ltd (PDL) is a family business that makes high quality wooden
furniture to order. The Park family owns all the shares.

As part of its commitment to training, PDL run an annual team building day for all

72 employees which is good for staff motivation. The factory is closed for the day
and the staff go off-site for the day. Group challenges are run which help develop

team skills and improve communication.

“I loved the team building day, we had great fun and it was better than being at
work for the day. However | am not sure how useful it was to my job in the admin
department?” Sue, Admin department.

The production manager will retire soon. Like him, many of the production staff
have worked at PDL for many years. They enjoy their work and most stay until

they retire. Consequently, there are several possible candidates to take over as
production manager, but none have management experience.

Customer reviews say that the furniture is made to a very high standard, however,
they also suggest that the administration staff do not always deliver a good
service. Complaints show that order processing is not always accurate. Recently,
some customers have asked about the negative reviews when enquiring about
possible purchases.

Figure 2: Organisation chart

Mr Jones,
General
Manager

Kerry, Head of Pete, Head of Harry, Head of
HR Department Finance Administration
Department Department
Tanya, Jill, Asif, Sally, Jamie, Sue,
HR HR Finance Finance Admin Admin
Assistant Assistant Assistant Assistant Assistant Assistant
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|0 [3].]1 ] Using an example from the organisation chart of the staff at PDL, explain how
PDL could use delegation.

[2 marks]

: Explain one benefit to the owners of PDL being a private limited company.

[4 marks]

Question 3 continues on the next page
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: PDL is considering promoting an employee from within the factory to the position
of production manager. Explain a benefit to PDL of using this method of

recruitment.
[4 marks]
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: A £9000 budget has been set aside for the team building day. The team building
day will cost £65 per delegate.

Other costs include

e Setup fee £750.75
e Coach Hire £459.50

State the formula for calculating total costs. Calculate the percentage of the
budget remaining after the team building day. Show your workings and answer to

two decimal places.
[5 marks]

Formula

Workings

Question 3 continues on the next page
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. PDL set an overall training budget of £30 000 and allocated £9 000 for this year's
team building day. Recommend whether they should spend £9 000 on the team
building day again next year. Give reasons for your answer.

[9 marks]
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Question 3 continues on the next page
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[0[3].[6]

Item D — Park Designs Ltd (PDL)

Park Designs Ltd (PDL) have built a good reputation for high quality traditionally
styled furniture made to exact customer specification by skilled craftsmen. Each
worker is responsible for making an order from start to finish. The workers enjoy
their work and are paid high wages. There are very few other local employment
opportunities for skilled woodwork craftsmen.

The design team has been developing a range of more modern designs to be
made to order and delivered in 4 weeks. The directors of PDL believe that this will
help them to compete with larger firms that produce modern furniture that sells at a
low price but is of a lower quality.

The factory is relatively small for the 40 furniture makers and space is limited.
Similarly, there is little space for the storage of stock and finished furniture.

PDL has had many orders for their new modern designs, but finds it difficult to
know when these orders will be placed by customers. Sometimes customers have
to wait 12 weeks for their delivery. The directors have noticed that many of the
new pieces of furniture ordered are very similar. It is only the finishing touches
that make each order unique to each customer.

The directors of PDL are considering changing to flow production for future orders.
The skilled craftsmen will need training to use the new machinery and will be
responsible for small parts of the production process.

Analyse the impact of changing from job production to flow production. In your
answer you should consider:

e The suitability of flow production
e Staff motivation.

You must evaluate which area will have the biggest impact on the business. Use
evidence to support your answer.

[12 marks]

Version 1.0



21

Version 1.0 Turn over »



22

END OF QUESTIONS
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There are no questions printed on this page
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